Chapter 19
Credit Management
1.

a.
Trade credit is credit the seller provides the buyer by allowing the buyer to postpone pay​ment while still taking possession of the goods or services.
b.
Aging of accounts receivable is a method of monitoring the cross-sectional composition of accounts receivable over time by examining the relative age of accounts receivable. An ex​ample of this procedure is given on pp.775-776 of the text.

c.
Credit analysis is the evaluation of the risk of extending credit to customers requesting it.

d.
A factor score is simply a linear combination of the original variables. A factor loading is simply the correlation of a set of factors with the original variables. A discussion of using factor analysis in credit analysis is presented on pp. 783-786 of the text.

e.
Collection policy is the collection measures the firm takes in dealing with delinquent cus​tomers.

f.
Factoring is when a firm sells its trade credit to a factor, i.e. a third party.  After the account is sold, the customer typically makes the payment directly to the factor.

g.
A Type I classification error involves the rejection of the null hypothesis when it is actually true, while type II errors involve the acceptance of the null hypothesis when it is actually false.

2.
The three forms of trade credit agreements are discussed as follows:

•
A promissory note is an IOU whereby the buyer promises to pay the seller a certain amount by a specified date for a designated order, all in writing and signed by the buyer.
•
A commercial draft is a sight draft if immediate payment is required; otherwise, it is a time draft on which the customer’s signature and the word ‘accepted’ must be added.
•
A banker’s acceptance is often used when the seller knows little of the customer’s creditworthiness and thus desires stronger guarantee of the customer’s debt. Such guaran​tees are constructed by asking the customer to arrange for his or her bank to accept the time draft. Related to a banker’s acceptance is an irrevocable letter of credit which may be re​quested by an exporter who requires greater certainty of payment by requiring the customer to have its bank send the exporter a letter stating that a line of credit has been established in the customer’s name.

3.
Aging of accounts receivable allows analysis of the cross-sectional composition of accounts over time. An in-depth analysis can be undertaken if the accounts are broken down by customer and associating probabilities of payment with the dollar amount owed.                    

4.
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The longer the discount period and/or the smaller the credit period, the larger the percentage cost of not forgoing the discount.

5.
Increasing the discount period from 10 to 20 days while holding the discount and the net period constant at 2 percent and 30 days, respectively, has the following effect:

•
More persons will take the discount. This will include current customers that already took the discount at 10 days as well as a portion of those that paid on the net date with the prior discount period. In addition increasing the discount period may draw in some additional customers.
•
An increase in the number of persons taking the discount means that the average price paid for the product or service will decrease. However, the average accounts receivable (and therefore the average collection period) will decrease which decreases the investment in accounts receivable and the opportunity cost of having funds tied up in accounts receivable balances.

•
The firm will collect more quickly from those customers originally paying at the end of the net period, but collections will be delayed for those customers originally paying at the end of the prior discount period.
Increasing the net period from 30 to 60 days increases the investment in accounts receivable as well as the opportunity cost of funds tied up in accounts receivable. This will be reflected in de​layed cash inflows and a larger accounts receivable balance. The only positive consideration in increasing the net period is if this action attracts new customers so that marginal profitability is increased.                                                                             
6.

a.
The cost of forgoing the discount decreases; thus, accounts receivable balances should in​crease and profits decrease as existing customers decide to pay their accounts in 60 days rather than 30 or 10 days. To the extent this longer net period offers more attractive terms than competitors are offering, some new customers or sales may be attracted to the which would also tend to increase both profits and sales.

b.
An increase in the discount increases the cost of forgoing the discount.   Thus, existing cus​tomers will pay sooner which results in a smaller accounts receivable balance. On the other hand, more customers will be taking the discount which adversely affects profits. New cus​tomers may be attracted by the discount which would also tend to increase the accounts receivable balance and profits.
c.
Lengthening the discount period increases the cost of not taking the discount. More existing and new customers will take the discount and the directional effect would be similar to that of increasing the discount.

7.
Liquidity ratios and their trend over time can help the analyst determine whether the firm is liquid enough to meet its short-term obligations. The relative size of the customer’s accounts payable to other liabilities and the change in the proportion of accounts payable/sales should yield infor​mation as to whether the customer will be able to pay its bills. The composition of current assets and their change over time is significant because if the buying firm has low cash levels but large inventory and accounts receivable balances, it may have a cash flow problem and thereby greater credit risk. Ratios are also used in credit scoring models discussed in Question 19-8.
8.
Credit scoring models have the following limitations:

•
the credit applicant should resemble the set of past applicants used to develop the discriminant model.
•
development of a credit scoring model is complicated and very costly
9.
The alternative sources for obtaining credit information are as follows:

•
credit agencies such as Dun and Bradstreet
•
Credit Interchange Service of the National Association of Credit Management
•
customer’s bank
•
Moody’s or Standard & Poor’s for a public company with outstanding securities on the sec​ondary market
10.

•
Trade credit increases the buyer’s cash flow and decreases the seller’s cash flow.
•
Trade credit increases the cost of capital to the buyer if the buyer uses it to such an extent that the risk of bankruptcy is significantly increased. Trade credit can also increase the seller’s bankruptcy risk if there are numerous delinquent accounts outstanding such that the seller is not converting receivables to cash.
•
Trade credit can enhance the sales growth of the buyer because it is a means of financing this growth. From the seller’s perspective trade credit can promote sales growth if it is used as a marketing technique for the firm’s product.
•
Trade credit can reduce the debt capacity of the buyer because trade credit uses up some of the capacity. Trade credit can increase the debt capacity of the seller if the accounts are paid promptly and the seller’s cashflow is stable.
11.
The discriminant function is a linear function which produces a credit index or score for each customer applying for credit. For example, if X1i and X2i represent two different financial ratios for customer i, the discriminant score or index, Yi for customer i can be determined as follows:

Yi = AX1i + BX2i
where A and B are parameters or weights to be determined. The weights can be determined by using either a dummy regression method or the eigenvalue method. Both of these methods are mathematically presented in Appendix 3A of the text.

12.
Change in sales = $1,000,000

a.
Change in collection period = 10 days
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marginal cost = 50,000 + 202.223(,15) + 1,000.000(.05) 
= 50,000 + 30,333.30 + 50,000 = $130,333.30

b.
Marginal benefit = (1,000,000)(.12) = 120,000

c.
Change should not be implemented because marginal cost is larger than the marginal ben​efit.

13.

a.
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b.
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c.
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d.
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14.
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Since RAS can borrow at 20%, it should implement the proposal.

15.
Discount income under old policy = (10,000,000)(.03) = $300,000
Interest under new policy:

Sales for which discount is currently taken: 
(10,000,000)(.15)(30/360) = $125,000

Sales for which discount is not currently taken: 
(10,000,000)(.15)(15/360) = $62,500

Net gains = 125,000 + 62,500 – 300,000 = –$112,500 
The company should not implement the new policy.

16.

a.
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b.
Incremental cost = (0.20)(150,000) + (.04)(450,000) = $48,000

c.
Profit contribution = (new sales)(margin) = (450,000)(.20) = $90,000

Net Profit Contribution = 90,000 – 48,000 = $42,000 
The proposed policy is beneficial to the company.

17.
Additional costs = 48,000 + 20,000 + (0.17)(100,000) = $85,000

Note: The cost of investigation is $20,000 and the cost of carrying additional inventory is (.17)(100,000).

Net profit contribution = 90,000 – 85,000 = $5,000 
The proposed policy is still profitable to the company.
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